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Before commencement of the exam the candidates will be given instructions (“INSTRUCTIONS
FOR CANDIDATES™) which should strictly be adhered to.
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Total marks are 100 and the time allotted is 2 hours.
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All questions are objective type multiple choice questions.
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There are 40 questions in part ‘A’ from Q.1 to Q.40, 30 questions in part ‘B’ from Q.41 to Q.70.
and 40 questions in part ‘C’ from Q.71 to Q.110 including 10 optional questions on “Official
Language policy’ from Q.101 t0 Q.1 10.
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There are no optional questions in part ‘A’ and part ‘B’. Candidate should answer only 30
questions in part ‘C’ out of total 40 questions. In case more than 30 questions are attempted in part
¢C>, then only first 30 answered questions, counting from Q.71 onwards, shall be considered for
evaluation.
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All questions carry equal marks. Each_ question is of one mark.
T ue GHE 3 & &1 Tdle WY TE 3 1 8

There shall be negative marking for incorrect answers. One-third of the marks allotted for each
question will be deducted for every wrong answer.
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Candidates have options O follow either Hindi or English version. In case of any miste #
ambiguity bt:;r-;en Hindi w.rsmn and English version, the English. version shall prevail
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PART eA®

When teain tevels onon curve gt = ‘
apeed hipgher "
| ipher thin the equitibrivm speed, i experiences

(A) Cant delicieney I (1) Gl oveems
1, There should be no chimpe of prades .W;ll'liill I ) ”““"!w‘l Cant I (D) None ol these
ek, s meters ol any points and crossings in B3G
(A) 20 | (v 30 |
\ As per IRSOD, provision of cheek il s (€°) 50 I([)) 100
sharper on BG ek, 1w mandatory on-cwrves of degree and
A) A
) (\\'ili“'\ parameter of frack iL(i::.)t :::lcmlml by 1 LB [ )10
(A) Alignment l () “““Ev' Y '""l‘l'“E-l"““"l“""?
5 I case of two OBS within 4 - T sl ICHENTICH | (1) Twist
R (N) Keep | “:“" on the same rail, final action to be taken is
A) e under | (B Proteet wi . L e
observation l_;“[_]z_ltlllifulu l“"h l () Remove within l (D) Remove within
. : wpled hish plides 3 davs 1 8
0. Mimmum ballast cushion to be provided in new lines (I)l G, main lines) I“ "“—mlhi-- —
(i\) 250 l U“ 300 s URLLLLLLLLIL L LLP e TR RRTRTT £1 L1 T
s in 0 soil mass are the parti , | (©) 350 | () 400
1. ;\1[(. \‘lll;r;‘ soil mass are (he [“Ull‘.'lk‘ﬁrwhlch have :-;ii/_('_ smaller |h“"‘ T P
(A) 4.7 ' | ) 1.75 | ©) 0.075 [ (D) 0.002
8. In an f:\pcn wch' girder, bottom chord primarily carries? - o "_r_:
(A) Compressive stresses | (B) Tensile (C) Shear stresses (l))_/-a;:.l-rc_;su
] stresses ] _
Q. Squccmng.'.'lll'L‘Sh‘l"'C (in kg/sq em) to be applied for tamping ol l‘lilill;l(-)l-l(st,iti;n. ‘.I’SE;T;luciacr by
UNIMAT 18 ...... LRy
Ay 135-140 |13y 120125 [(C) 110-115 T (D) 145-150 | oo
10. | The minimum squeezing time for tamping ol PSC sleepers by (%M_l_s_____#__t.(,_(,gm_]«, el Md/‘ .
(A) 0.6 1) 0.8 (©) 1.0 © 04 FEE et o
Gﬁ"j 0}:\{3 ”"\‘T‘
11. | Minimum width of formation (in m) in embankment on a new single line BG track is ....... . wt
" layeas  lmess O 1E (D) 825 1648
12. | Speed restriction is (0 be imposed, when the TRC parameters are beyond ............ limits. AP0
(A) PML (3) NBML (C) UML (D) Both NBML =
- and UML
13. | After an accident, track parameters (Gauge and Cross levels) are measured at an interval of
............. m as per Accident Manual.
(A) 3 I () - — (C)_10 D) 20
14. | As per IRPWM, corrosion beyond ......-. mm in web or foot of 60 Kg rail should be taken
as the criteria for renewal of rails.
(A) 1.0 [®) 1.5 [©30 _ D) 4.0
5. | The maximum distance between (WO trolley refuges in a cutling on curve shall not exceed
............. m .
D) 200
(A) 75 /f' (B) 100 T
16. | The distance of caution indicator board for ‘Stop Dcad’ restriction on BG track should be
................ m from the work spot.
(A) 600 B) 800 : : :
17. | The frequency of recording by TRC on routes with MPS of 110 Kmph s «cooeeeeeese
(A) 2
i s soriodieity of moed based USID testing of slleds /D=1,
L (A) 6
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19. | In a cantileve -
...................... IR CTs v I (0 lixed ent Y T:
(A) Freeend (1) Mid poin \ } :llu’wilihuhuf”‘“
e v TR | RYRTITTRRTLL,
20| The major resisting JIee l""g"‘“w::) s = () Water presee | (i
(A) Sell-weight ol dam (13) Wawt i ey,
S pressire e wailet ahiould ol b fea
21. RcsiduzrchlnrincinJgpllgl_l_l{c_;[:gc_t;qllnl_ g drink lig WES2 2 i lingy
| Residual cITOTRE = 5 (L) 0.1 (1) {14
(A) 0.1 ) 0.2
22. W&@dm&@ﬂu}ﬁmsﬂuU"L"!_t will bt s | i
(A) 0.04 [@myoos () V.12 L) Hute of
23. | Who is the lowesl ol'ﬁciaruuliun'iz,ed [0 catty oul einetpeney pepitiins ol o i Iheeti |
LWR track? — L
A) Matc [(3) Keytan () Trucket [ (137 di(f
24 | An OBS(W) defect on the approaches ol an impnliulll PIRTUTERE titisitleted v 104f il
............ m from the bridge. -
(A) 50 [ o0 | () 150 |y 20
25. | The frequency of trolley ins reetion on maiti lities by ADLN 18 ulite W Mitititsy,
(A) | = Tay 2 () | (1) 4
26. | The criteria for n_{ﬁi—nlcn—nﬁcv planning ol ek, hged o THRE peaiilla, (b it
consideration ............ ) e ) _
ﬁ)—éﬁ?ﬁﬁi;f— S ]{H} Peak Values | (C) Accelerilio (1) Al e thises
paramclers ——— ol paramelers vltiey
27. | The m:lximuni pcrm_iltml cant pradicnt on (ransition cirve ot PG froiesh i 1o
A)360 |y aso [ () 720 [ (1) 1200
58| Which of the following is the mos desirable Lype of welding for alee] woth i bityes?
(A) Metal Arc welding (13) Submerged () COy welding (17y ‘Thiettiit
I WAL welding yreldinge
59. | Elcometer is used [0 MEASUIC ... _
(A) Paint thickness (B) Plale (') Painl visttsity (17) uutitichneas of
_— thickness _ el
30. | The risc in water level, due (o obstruction caused by biritlpe steaettints, G fhies iitittibdite
_upstream side of bridge is called ...
(A) Free Board (13) Vertical (Cy Higeh Fleod (11 Aitlar
| clearance Jevel
31, | A bridge is designated as “major bridge” when oo
(A) Total lincar watcr way (13) Clear water (C) Both A 81 (1) htst 1
is 18 m or more way of 17.1m or
more in case of
| single span
32. __\Mlic_hﬂlc__ﬁgl_l_q_wipg is the most important factor affecting, durability of catiorete?!
(A) Permeability (15) Compressive | (C) Losd onithe iy ety
] strength slruetre cepietit
33. R](.:bmmd hammer test (Schmidt bammer) on a concrete surface gives an e Attt sooee "
of concrele. :
WU (A) Compressive strength ]_(.”) f'twrtrﬁiily l (C) Sutface oracks f (17y ety Contitith
34, | What is the minimum distance (in 1n) of gatepost froro the centee line Gf ihes fraty o joirth

crossing in BG?7

(A)3 N (DX [(C) 5 [an 8
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35.

— |

How many slee
pers ar
(A) 2 E la'mT"‘&cfl?’;’y}'l‘amping Express in each insertion?
L) 4 [(D) 6

36 A lin 16 tum
- out (similar fle
the resultant xure) takes off fi o
(w2 nt degree of the Iert(i};mve ekt i VALl 03
37. | In a map, contour lines close to 23(24 — [(©) 0 (D) 3
/,—Mentle slope ®) ; : other indicate ...coceeeeereenne
: - e
38. [ Dataentry in TMS is to be done at Lh?:ii%p;f [(C) Level ground [ (D) None of these
(A) Creation of an asset (B) Inspection of {C) Changs
_ & aSS;etp ionof | (C) Changeofan | (D) Allof these
39. Tilting of rails is done at a slope of 1 in st
wi . Iman |
Th ' —==|l(E} 20 [(C) 25 D) 30
40. e maximum gradient in statio -
.................. ' ealoss special saf n yards (for existing works) on BG should be 1 in
(A) 400 | (];) €t5y devices are provided and /or s ccial rules are enforced.
— UL [(C) 260 [(D) 1200
PART “B”
41. ?ayment for increase in quantity of an individual existing item up to 25% in works contract
jsmadeatthe ....ooocoomenreonazees
(A) Same rate as per (B) Same rate (C) 2% less than (D) None of these
agreement with finance the agreement rate
concurrence
42 | Maximum aumber of LAP that can be encashed at the time of retirement is .......oeeess
(A) 180 D) None of these
43 SF-4is giventoa railway employee for .......ooooroe
(A) Issuing minor penalty ®B) Suspension (C) Issuing major | (D) Revocation of
charge sheet penalty charge suspension
sheet
44. | Which of the following isnot a minor penalty?
(A) Recorded warmning (B) Censure © Withholding of (D) Withholding of
PTOs one increment
without cumulative
effect
75. | DMTR stands for ........--= : ]
(A) Daily Master (B) Daily Materal | (C) Daily Matengl (D) None of these
Transaction Register Transaction Transaction Receipt
46 mber, pertai fP.Way?
47. lway employees arc entitled to following benefit(s
(B) Settlement © Encashment of
grant leave
48 | The maximum amount — tuity payable on retirements S
29 | Koyman should be fit ifl +-ocpeeeceena==
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(C) Price Variation
Clause

ase®
........

-------
.......

(C) After passing
final bill
e can encash maximum of tota] . .

(A) Physica
of work

—ible for risk allowance?

(C) P.Way

Maintainer Blacksmith
% of contract value?

54 1 i
(A) P.Way welder
55 The amount of Securl Depositin 2 works contract és — .‘
) 2% —mw _ (C) 10% _ %
(A) 2 Jimit of issuing of a work order 11 Zonal contractisRs ......... % 3
€)o l D) 10 -
>

The upper
C) Divisional
(C) Divisiona (D) Deprecizi;

56
A) 2
57 | DRE stands FOT ovuamenesnzese __
(A) Development Railway
Fund Railway Fund Reserve Fung
RRSK stands FOT vounannmnmmzer
(B) Railway Risk | (C)Rail Road (D) Nons o

(A) Rashtriya Rail
Suraksha Kosh Suraksha Kosh
d

Suraksha Kosh
i e
e (B) 30 [©) 31 DK
maximum limit of awarding 2 work, on quotation (without calling the tenders), v
................ Lakh. viak WL
[(D) 10

The
nce by SL.DEN is Rs

finance concurre

(A) 4 B 5

Which of the following is not a recognized category under HOER in Railways?

(B) Excluded (C) Continuous (D) Essentially
intermittent

(A) Intermittent

Railway Fund

62 | How many sets of PT P - ’
retirememg sets o Os are admissible to a gazetted railway employee per yez. &€ »
63 l@li i T L(B) 2 1 (©) 3 (D) 0
[ [(A) BI mum medical fitness category of track machine operator (JE/TM) 5. vineitit
64 | As per finance code, d (LA L(©) a3 _1/(]3) None of 3
/ I _ demand number, for repairs & maintenance of staff quarters amens
[(A)7 |
65 - - : (B) 11 (C) 3 All hese
[ él;c)ilalr:1 CIé:lllhfwéa)_rlMedlcal Services (IRMS) has beeln re)-designated A e (D)
Maﬂagementasl WE}y (B) Indian (C) Iﬂdian Railway (D) Noe Ofﬂﬁ;
(RMS) ervices Railxyay Health Health
Services (IRHS) | Organization v
\s per Secti - (IRHO A
: 1on 7(1) of RTI Act, time limit prescribed for )furm'shing informatio? oY

A
Linform ti :
I BOad];;]s sought for pertains to life and liberty of a person is
| B) 7 days | (C) 48 hrs




_—TWhat is the name of po -

67 (A) IR Shramik Kal?annal cre(zg;d g{f Sfikil:;nmc c.iata of contractor’s labourers in Railways?
portal Payment p ik | (C) IR Contractor | (D) None of the

’g‘q/ Recruitment of Group ‘D’ staff in rajlw =t Welfare Portal above

A ways 1s done through..............
w | (B) RRC AT
’6{" Which clause of the Standard GCC aov | §C) D“f.'sm_ns L (D) SSC
: A) 42 | ®) 12 Vems extension ofﬂnme in works contract;s?

’Tlﬁ'f What is the rate of Dearness Allowance for Rail ] (C) 63 it(D) 7, 'Aq
A) 12% [8) 152 ailway employees w.e.f. 1% July 20197

I ) 15% [(C) 17% (D) 21% B

P_A ;RT “C”
Answer any 30 questions out of total 40 questions in this part.

71, | By repeal of article 370. the state of J&K is bifurcated into the .......-- |
(A) T“’? separate }Jmon (B) State of J&K and | (C) Union (D) None of the i
Territories of J&K and Union Territory of | Territory of J&K | above .
Ladakh. Ladakh and State of

| Ladakh

72 | The worst affected City of China. by Cormnovirus is ..........

| (A) Beiiing | (B) Shanghai | (C) Wuhan | (D) Hongkong

73 | Name of the Lander in Chandrayan-2 lunar mission launched by ISRO 1S ........

| (A)Pragyan | (B) Vikram [ (C) Sivan | (D) Voyegar

74 | Which of the following is the largest desert? |

[ (®)Kalahar [ (® Thar [ O Stham _ [D)Gobi |

75 | Noble prize for Economics during 2019 is shared by whom? \
(A) Abhijit Banerjee (B) Raghuram Rajan | (C) Amratya Sen | (D) None of the

above

76 | Which is the highest Gallantry Award in India?

(A) Vir Chakra (B) Param Vir (C) Kirti Chakra (D) None of the
Chakra above
77 | Harmanpreet Kaur is associated with which sports?
(A) Javelin Throw [(B) Long Jump | (C) Shooting | (D) Cricket
78 | 2020 Summer Olympics will be held in which country?
(A)Japan | (B) South Korea | (©) China | (D) Malaysia

79 | The National Monument of Indiais .........

(A) India Gate (B) Gateway of (C) Taj mahal (D) Red Fort
India

80 | The first train ran between stations Bori Bunder and ------ in the vear 1853.

(A) Byculla (B) Calcutta [ (C) Colaba | (D) Thane

81 | Which of the following is a UNESCO World heritage site ?

(A) Chhatrapati Shivaji | (B) lephanta (C) Tajmahal (D) All of the above
Maharaj Terminus caves
82 | Garba is a popular dance form of which state?
(A) Gujarat iB) Kerala kC ) Tamilnadu [(D) Maharashtra
83 | The currency of Japanis ........... -
L {(A) Yuan l(B) Yen . l(C) Taka lLD) Ring_git

24
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84 (_‘n_l_mni.g:_m):_:p[_gl___@‘.‘.ﬂ“_IJ}(.i.;u)‘!—lj]}$||i(c (C) ”lgh\i\h"ly.‘- & (D) Civil Ao e
(A) Railways __Road Transport m
s IS —— |
T ol I IS e T TG T T '
23 -1"—-"-'S—l-»f—‘—l:l—)g;f“g'mi“ﬁmﬂﬁL?Ilikurmnvir (C) V.K. Singh (D) Nn"‘;s\
(A) Bipin Rawal Smgh____|—————— |l of y N
o Lok Sabhn?
% e !‘S't"‘m’n:m'fmlw“ﬁ(ili';?%is:li Venkaiah [(€) Shri Ajit Kumar (1))11\71?@;}\1
Shri i o S dumj
(A) Shri Om Birla Naidu Doval Mﬂlliljunmr\d\\‘]
e — .
—_— -'——-——--——-é-—‘—‘—‘—'r_-‘f_" -_f:-—Jliﬂ is Uﬂ.”{:d veser B - == .
87 | The sea on the ;\_’_L‘;‘E_EP“,}—'P—I—]E—“M'T‘T ~onl [(C) Arabian Sca (DY N |
(A) Mediterrancan Sea (B) Bay of Bengd (G)israt ) NUFUTSTQ‘“\‘}
_——-——__'__.___—r_‘——.—‘ g v ey ‘T
$8 | Who had EMMW“(‘E; l;gl::i‘};’:fl‘l‘(;::'wlo(rg |
(A) Charles Darwin (B) ]i:li:cli(lj:l ' ) /\:llﬁ;:l Rusm
— - =TS alice
89 | Who can be credited with MJ_EMHM? T
(A) Mahatma Gandhi (B) Raj Ram (C) Ram Manohar | (D) Sardyy Parel
Mohan Roy_ | Lohia e
90 | Who is current Minister of State Fo_r l{ail\’f'ﬁ}’_s? —
(A) Shri Piyush Goyal B) Sh[‘]l Manoj ©) f;ll_u Dlmcsh (D) Shri Rt 2
Sinha rvec Sures)y
91 | Who wrote “Vande Matram™? .
(A) Bankim (B) Rabindra Nath | (C) Sardar Patcl (D) Jawaharla] Nehiny
Chandra Chatterjee | Tagorc
92 | The headquarter ol South Coast Railway will beat .o..oeeeee. ? i
(A) Vijayawada (B) Guntur | (C) Guntakal | (D) Vishakm
93 | The largest continent ol world is? _
(A) Asia | (B) Australia | (C) Antartica [ (D) Altica
94 | Headquarter of World Health Organization is located in which cily?
(A) New York | (B) Davos ]i(C) Berlin | (D) Geneva
95 | FAS Tag is a [acility to? - Ly
(A) Zoom through (B) Enter into fast | (C) Pay vehicle (1>) None of these
toll plaza without lane on a highway | registration charge
paying toll in cash online I
96 | India's first privatc train service has been introduced between Delhi and------- 7
I
(A) Mumbai Central | (B) Jammu Tawi | (C) Lucknow (D)Agra
97 | India's first Bullet train project is being constructed between these two citics?
(A) Delhi to (B) Ahmedabad to | (C) Delhi to (D)Punc to Mumbai
Mumbai Mumbai Kolkata
98 | Which of these is the longest river?
(A) Ganga [ (B) Brahmaputra | (C) Narmada | (D) Godavari
99 | Who is called father of Indian Space Program? ]
(A) Dr Abdul Kalam | (B) Dr Sivan (C) Vikram (D) Kalpana Chawl
Sarabhai -
100 | Which of the following is not a DIFCCIL routc?
(A) Delhi-Mumbai | (B) Delhi-Kolkata | (C)Delhi-Chennai | (D) Delhi-Jammy
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73
101 | What is the seript ol the Offie] 7
(A) Gujorati ! ,"( i(‘;l::."','l I””L’:'““HC, Hindi? - T e
102 | Which State hag adopted Hilll.‘i'k:“i‘ll}f:':” ' l (« 'T).‘.i|'r"""'kl'i l(l))l,m:ﬁ;"" T
(A) Uttaenk l (13) Jhark ‘ Im cond olficial language? T S ————
103 [ Any communication fiom one Mil:;:l " .l,(( ) ””‘f" Pradesh f(l)) Bihar T
should be in 9 stry of Central Govit to other Ministry of Central Govt
(A) Regional T Hindl anle e
| language only i anly ) (C) Fither Hindi or [ (1) ither Hindi or
(04 | Which olthe '__‘“,l_li_)Wi.lI 2 state does not [al] inrli%“;nm‘l; ;FJ%‘,‘UBC tinglish
(A) Himachal D Mhark horel ———r _.‘5'1'5 '!,’.'L___:
Pradesh (BB) Jharkhand (C) Chhattisgarh (D) All of these
705 | When is National Hindi day celebrated in India?
A) 5 June 3) 14 N S
"(—-)"‘.;pf'“’*r———-—,—J-(B) 14 November | (C) 14 September | (D) 5 December
106 | Who is chairman ol Central Hindi Committce?
Yiornaa s pdgn D T - :
(A) _l resident of (B) Prime (C) Speaker of (D) Vice President of
India Ministcr of India | Lok Sabha India
iAl” Manuals and Codes relating to Central Government Offices are required to be prepared
| ——
(A) Hindi and (B) Hindi, English | (C) Hindi and (D) English and Regional
English laﬂd Regional Regional language | Language
anguage
108 | Which Hindi course is prescribed for Central Govt. employees?
A) Praveen [ (B) Pragya [(C) Prabodh [(D) All of these
As per ‘Official Language Rules-1976°, State of Maharashtra falls in which region?
A) A | (B) ‘B’ i€ E [ (D) ‘D’
has been divided into how many

As per the Official Languages rules, 1976, the country
| (D) None of the above

| (©) 4

regions?
A).2 [(B)3
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